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lr‘llumber these events from Katherine Johnson's life from 1-4 in the order in which they
appen.
The first one has been done for you.

An astronaut preferred Katherine’s work to D
a computer’s to help his mission succeed.

Katherine had her research published. D

Katherine's maths helped send the first D
_American into space.

Katherine was employed by NASA. III

Look at the second page of the text.
Find and copy one word which means the same as ‘many’.

1 mark

Find and copy 2 words or phrases that the author has used to describe Katherine that link
her to space.

1.

23

Katherine was discriminated against because of the colour of her skin.
What else was she discriminated against because of?
Tick one.

18 L
disability E
. E
height |:,

Katherine Johnson was a good role model for women at the time.

Explain two ways that this statement s true, giving evidence from the text to support your
answer.
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There are 7 questions in this test.
Give yourself 10 minutes to read the text and answer the questions.

The Three Sisters T

Long ago, in the Blue Mountains of Australia, there lived a wise
man, whose name was Tyawan. He had three young daughters.
The mountains were a magical place: tall peaks seemed to

touch the sky, and the deep valleys were covered in lush, green
eucalyptus trees.

In a stagnant pool at the bottom of a valley there lived a Bunyip: a = 4
terrible creature who liked nothing better than feasting on human flesh, especially
that of young girls. The only way to escape a Bunyip was to run very, very fast.

One morning, the wise man left his daughters at the top of a mountain, descended
into the valley and began to move carefully past the Bunyip’s pool.

Suddenly, the youngest sister was staitled by an enormous centipede. She threw
a stone at it, but it missed and began to roll down the mountain, becoming louder
and louder as it fell, the noise echoing around the cliffs. The sound caused the
mountain to split, leaving all three girls trapped on a narrow ledge.

The Bunyip stirred. He roared and charged up towards the three sisters.

Tyawan reacted quickly. He pointed his magic bone up at his daughters and turned
them to stone. The Bunyip bellowed with rage and turned on Tyawan, who used
the bone once again, transforming himself into a lyrebird so he could fly away and
escape. The Bunyip skulked back to his lair to await his next victim.

Far away from the Bunyip, Tyawan was ready to restore himself with the magic
bone. But he didn't have it — he must have dropped it when he transformed into
the lyrebird. Tyawan frantically searched the forest floor, desperate to restore his
daughters, but to no avail. They were changed forever.

That is why you can still see the lyrebird scratching and scratching at the forest
floor, watched silently by three rocks known as the Three Sisters.

b
PR ———— - -
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Write the numbers 1 to 5 in the boxes to put these events from the
text into the right order. The first one has been done for you.

The Bunyip is disturbed.

Tyawan turns into a lyrebird.
Tyawan goes down the mountain.
A centipede startles one of the girls.

Tyawan turns his daughters to stone.’

b
[
[1]
=
]

1 mark
Which type of trees grow in the Blue Mountains?
i e 1 mark
What does the word stagnant mean in the text?
Circle the correct option.
1 mark

What does the word charged suggest about how the Bunyip
moved?

1 mark
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How can the blind man work out where he is going?

7. - --Why does the narrator describe himself as being like a child?

2 marks

END OF TEST
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Set C: Test 5

There are 7 questions in this test.
Give yourself 10 minutes to read the text and answer the questions.

‘The Fog’ by William Henry Davies

| saw the fog grow thick,

Which soon made blind my:ken*;
It made tall men of boys,
And giants of tall men.

5 It clutched my throat, | coughed;
Nothing was in my head
Except two heavy eyes
Like balls of burning lead.

And when it grew so black
10 That | could know no place,

| lost all judgment then,

Of distance and of space.

The street lamps, and the lights
Upon the halted cars,

15 Could either be on earth
Or be the heavenly stars.

A man passed by me close,

| asked my way, he said,

“Come, follow me, my friend” —
20 | followed where he led.

He rapped the stones in front,
“Trust me,” he said, “and come”;
| followed like a child —

A blind man led me home.

*ken — the distance you can see

e A e G i e i
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Read each statement and tick whether it is true or false. |
True False

The fog makes people look shorter. l:] l__—]
The narrator breathes in the fog.

The fog gets clearer in the poem.

000
BNl

#The narrator is confused by the fog..

A ksl
ik

g

1 .mark

Sk ;;;i[:Vhat does the word clutched mean in line 5?

1 mark

3. What is happening in lines 6-8 of the poem? Tick one box.

The narrator can’t think about anything. I:]
He can only see two flaming balls of light.

The narrator can’t think about anything, [:I
and the fog is making his eyes sting.

The narrator can’t think about anything,
and he feels like he is on fire. D

1 mark

|

4. Using your own words, summarise what happens in the third verse.
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Why does the narrator describe himself as being like a child?

2 marks

END OF TEST
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There are 6 questions in this test.
Give yourself 10 minutes to read the text and answer the questions.

Felix’s Fall

When Felix Baumgartner landed on his feet in the New Mexico desert on the 14th
October 2012, he had just jumped from a height of 24 miles above the Earth.

Baumgartner, an Austrian skydiver, was 43 when he jumped out of a small
capsule that had been carried by a helium balloon into the Earth’s atmosphere.
He reached a speed faster than that of
a jumbo jet and became the first person
to break the sound barrier without an
engine. He also created a new record
for the highest skydive. The existing
record had been set by an American :

What is the Sound Barrier?

Sound travels at a speed of about
767 miles per hour, depending |
on the air temperature. When |
objects like the tip of a whip or

Air Force Colonel called Joe Kittinger, a bullet move faster than that

52 years earlier. Kittinger helped a sharp crack is heard. This is
Baumgartner to prepare and was in the called ‘breaking the sound barrier’.
e PO T AR TS e e et e

The feat was incredibly dangerous. Baumgartner could have suffered from
oxygen starvation, extreme temperatures or his parachute accidentally opening.
"""""""""""""""""""""" Because he was above the Armstrong Limit,
his blood would have boiled if his protective
suit had ripped. Within the first minute of
the jump, Baumgartner’s body began to spin
at high speeds, but fortunately he regained
control, and he opened his parachute after
free-falling for over 4 minutes.

At heights greater than

i about 12 miles, blood in the
: human body will boil.

i The 12-mile point is called
! the Armstrong Limit.

Rather unsurprisingly, the triumphant Baumgartner is now
planning to retire from the daredevil business and find
employment as a helicopter pilot.
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il Where did Baumgartner jump from?

Tick one box.

the Armstrong Limit |:|

New Mexico I__—I
- the sound barrier : D
1

‘the Earth’s atmosphere

1 mark
reached a speed faster than that of a ju)-hbo Jjet
' how comparing Baumgartner to a jumbo jet helps the
0 understand his speed.
1 mark
1 mark

1 mark

RIS i

“..__
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How high is the Armstrong Limit?

1 mark

). How do you think Joe Kittinger felt as he sat in the control room?
Explain your answer using evidence from the text.

3 marks

END OF TEST
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Test 4 — Pages 49-51 | Test5— Pages 52454 -

1. 1 mark for all four correct 1. 1 mark for all four correct
The Bunyip is disturbed. [3] The fog makes people look shorter. —
Tyawan turns into a lyrebird. [5] e False
Tyawan goes down the mountain. [1] The narrator breathes in the fog. — True
tipedestartles.one of the girls. (2 The fog ge;;s c/earer in the poem. —
& % TyaWan turhs his daughters to stone. ‘3 False 5%
e 4] ; *? The narrator is confused by the fog. —
(2f) True
2. 1 mark (2d)
eucalyptus trees .. 2. 1 mark for a sensible answer, e.g.
(2b).: P gripped #
ok 2
3. 1 mark 3 (2a)
stale e 3. 1 mark : 1!»33 ;
(2a) The narrator can’t think about anyth/ng,
4. 1 mark for a sensible answer, e.g. ?2";) theifogiis making his eyes st/ng.“
“He moved very quickly.” E
(29) 4. 1 mark for an answer that mentions
: e B
iyt iy
Because he is looking for the lost magic can't tell where anything is.”
bone. . (20)
(2d) &
6. 1 mark for an answer that mentions T .:rz:;'/(a:;:mh Souect
both Tyawan and his daughter, with a ! :
brief explanation, e.g. ?Zevé’)headhghts OR lights on cars
“Tyawan is braver than his youngest ¥
daughter, because she panics when she 6. 1 mark c
sees a centipede, but he isn’t scared of Because he has a stick.
the Bunyip.” ! (2d)
(2h) 7. 1 mark for a sensible answer that
7. 1 mark for a simple comment, e.g. mentions one reason, e.g.
“Tyawan can't find the magic bone.” “He is like a child because he foll the
2 marks for an answer which blind man.” Hibets
mentions the main event and its 2 marks for a sensible answer that
consequence, €.g. mentions two reasons, e.g. 4
“Tyawan can't find the | magic bone, so “He is like a child because he doe?"t ¥
he and his daughters are stuck as a understand what's going on, and he has
lyrebird and three stone sisters forever.” to do what the lind man tells h/m to:
(2c) (2d) e
69 Answers

il

oy
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Test 6 — Pages 55-57

1. 1 mark
“the Earth’s atmosphere
i % g
2. 1 mark for a sensible answer, eig.
“The reader can imagine fow fast a

Jjumbo jet goes, so it helps them to
imagine Felix’s speed.”

4. 1 mark for a sensible answer, e.g.
“there is not enough oxygen available.”

(2a)
5. 1 mark
12 miles
(2b)

6. 1 mark for suggesting how Kittinger
would feel with one piece of
supporting evidence, e.g.

“He would feel nervous, because he
knew the risks involved in the jump.”

2 marks for suggesting how Kittinger
would feel with two pieces of
supporting evidence, e.g.

“He would feel nervous, because he
knew that the jump was risky, and

he was the one who helped Felix to
prepare.”

3 marks for suggesting how Kittinger
would feel with three pieces of
supporting evidence, OR for
suggesting multiple feelings, each
with supporting evidence, e.g.

“He would feel nervous, because

he knew that the jump was risky.

He might also feel a bit sad that his
record was about to be broken.”

(2d)

wers

Scoresheet Question — Page 58
HYMN

&
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| dreadful conditions for very little money, while

1n London, UK, during the 1880s, very poor
women and girls worked at the Bryant and May
‘match factory. They were trapped working in

v the Hoyger D0ldly.
A louses Marcheg
7 futs u 10 discugy ot Parlamen; ©
) ! . hei
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i

L
5

all the factory owners earned huge profits. AN >~ e
A group of the matchgirls risked their jobs by BRAVELY - ﬂ 2 i : 1 ~

iR
/ speaking to women's rights campaigner, Annie Besant,
nhmtwhaticwum!lyliketnwurlfimheftmry._ SV realised e a4 4
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national curriculum tests

English reading

Reading answer booklet

First name

Middle name

Last name

Date of birth

School name

DfE number

\ ¢ Kale
S Pankhurst
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Inese questions are apout tne "Katnerine JONNSoN" exwract Irom e Dook
‘Fantastically Great Women who Worked Wonders’.

Look at the first paragraph.
What was Katherine Johnson'’s profession?

According to this text, what effect did segregation laws have?

1 mark
Look at the first paragraph.

Find and copy the phrase that shows Katherine was good at her job.

1 mark
According to the text, why were people employed as computers?

1 mark
5. NASA employed lots of women...

What does the word employed mean in this sentence?
5 Tick one.

volunteered I:I

sliifkfor their l:l : :
= interviewed D : -

educated D -

1 mark
6. Women were rarely considered for these top jobs..."

(a) Explain what this sentence means.

(b) What does this suggest about what some people thought about women in the past?

7. Which two countries were competing to be the first to explore space in the Space Race?

8. Look at the paragraph beginning: “Lots of the way things worked at NASA...”

~ What does this paragraph suggest about Katherine's beliefs?
il





